
Outline for RMPJC Economics Conference, 12/6-08
A complex set of factors in play at present.  But the basic explanation:  lack of govt oversight (regulation) of financial markets allowing/encouraging the financial investment community to create a virtual Ponzi scheme – Sellers of financial instruments  sell instruments with a promise to pay in the future, using  money from new investors to pay off old investors.   A pyramid scheme that eventually collapses.

·  Overexpansion of the housing market in an economy increasingly dependent on Consumption spending for growth.  (Consumption spending rose from 66% in 1987  to 72% of GDP in 2007 fed by fall in personal savings rate from 5.7% in 1995 to nearly zero between2005- 2007.)   
· Low interest rates supported by Fed, Fannie Mae, Freddie Mac, policies to support home ownership and the housing bubble
· Led to appreciation in the housing market of 8%/year compared 1.2% earlier.
· Speculation in the housing market by buyers, flippers

· Refinancing to use one’s house as an ATM to increase consumption spending.

· Vast increase in consumer debt through this mechanism as well as through credit card debt (household debt hit a record of 133% of disposable personal income in 2007  from an average debt of 90% a decade earlier). 

· Innovation” in the mortgage market: “Demand for complex mortgage securities led to a loosening of lending standards, which in turn drove housing prices higher.” 

· Borrowing standards were eased: no employment, no income, no job, no down payment .  Between 2002 and 2006 the percent of subprime and Alt-A mortgages increased from 9% to 40% of all new mortages
· Creation of new sorts of mortgage terms:  e.g., ARMs

· Risk of defaults increased substantially, as did defaults

· Expansion of mortgage backed packages of bonds (collateralized debt obligations) sold all over the world

· Bubble burst  - Housing prices peaked in 2006 and subprime mortgage brokers started to go bankrupt in 2007, reaching crisis proportions in the summer of 2007  when some highly leveraged hedge funds collapsed and a big mortgage originator had to be acquired to save it.
· ARM rates increased 
· Home prices have spiraled down 20% and may decline another 10%. Mortgages “under water” 

· Collapse in confidence of the creditworthiness of many financial institutions and a rapid  breakdown of a variety of esoteric credit markets – for credit default swaps (CDS) collateralized debt obligations (CDO), auction-rated municipal bonds
· Collapse of interbank lending

· The situation is worse in Britain.  The International Monetary Fund says that world wide banks will shed $10 trillion in assets, or 14.5% of bank credit in 2009.

· The credit market freeze. (explanation from This American Life Oct. 3 presentation)  
·  Function of the Commercial paper market and why it froze up.  Big companies borrow for their daily transactions.  ABC  corporation borrows $999,000 today and pays back $1 million tomorrow.  Their financial agent issues commercial paper and sells the paper to money market funds, trust funds, etc.  Huge market representing around $100 billion per day.  The market works through the money market mutual funds market. The mutual funds buy the commercial paper (lending money in the commercial paper market).
· Problem.  The market froze 9/17 - no bids in the market so paper could not be sold.  On 9/17 the largest mutual fund, Reserve Fund, ”broke the buck” !  Unprecedented because investing in money markets is very secure.   Reserve Fund had bought money market securities from Lehman Bros that had just gone bankrupt.  Then, another big fund broke the buck; then AIG had to be saved by the Feds.  Wednesday and Thurs $100 billion flew out of money market securities into Treasury bonds.

· Major cause:  Speculative growth of Credit Default Swaps (CDS’s).  Originally they were designed  as a form of insurance in case of default of corporate bonds, a way to spread risk.  A large owner of bonds , say $100million of Ford bonds, purchases a CDS from a financial firm and pays 2% or $2million peryear, with the understanding that if the bonds default the issuer will pay the bond holder $100million.  In 2000’s, they morphed into a lucrative form of speculation for big players as brokers and others buy  CDS’s when they don’t own the original bond.  It’s estimated that there are $5 trillion in corporate bonds and $60 trillion in CDS’s!

· Growth in these derivatives was based on lust for leverage, purchasing an asset mainly with borrowed money.  Swap contracts have high leverage.  Example:  A Hedge fund has $100 million and sells a CDS to someone with $1billion in bonds.  The Fund gets 2%/year or $200 million/year, profiting  on $1billion but owns only $100 million.  However, if the bonds go into default the Hedge fund has to repay $1 billion that they don’t have.  AIG went bankrupt because they guaranteed $400billion  in Lehman Bros bonds through CDS’s but didn’t have the money to pay off in case of default.
· The situation is magnified by “netting”, ostensibly  a way to reduce risk.  E.g., a hedge fund has a hunch Lehman is going down.  They go to AIG and buy CDS on $1 billion for $20 million.  Lehman looks worse so new swaps are more expensive.  The Hedge fund then goes out and sells a CDS for $40 million on Lehman bonds, $20 million more than they spent.  The hedge fund owes its buyer $1 billion, AIG owes the hedge fund $1 billion, a net of zero risk: the trades net out.    I sell protection to Morgan Stanley, Morgan Stanley sells protection to Merrill Lynch, Merrill Lynch sells to… .   Everyone nets out.  However, If Lehman actually does default, the chain breaks down and all these  parties have to pony up, so there could be losses all down the chain.  
· Who is the culprit?  Lack of regulation.  These contracts are all private. They are not regulated and are not reported. The instruments need to be publicly traded and regulated so it is public knowledge who owns them and how much money is involved, but Congress refused to do so, violating a necessary requirement for the effective operation of competitive markets:  complete transparency and full information. Part of financial engineering strategies that developed sophisticated financial instruments, or derivitives for leveraging credit and “managing” risk.  So sophisticated that regulators could not assess risk and had to rely on the risk management models of the financial institutions they were regulating!  Ditto for the rating companies.
· Why markets froze:  Bubbles have to collapse and when they do there is a breakdown in trust.  Lenders can’t assess the risk of default, because  derivitives trade in private markets without full disclosure. They stop lending.
The Bailout.  Congress agreed to a 700 billion bailout managed by the Treasury Deparment, because banks were undercapitalized (because they were not properly regulated to begin with). 
· Initially Treasury announced it would buy questionable mortgage backed assets (CDO’s) from the banks, exchanging dollars for the assets, which Treasury would eventually sell.  Necessary because banks were undercapitalized because their “capital” was now worth less.   Problems:  difficulty in determining the price for these assets when there  is no market; creates inherent problem of moral hazard of rewarding people who got us into the crisis, thereby creating the view that the government will bail out bad behavior.  

· After three weeks of dithering, on Oct 13 Treasury decided on a direct capital injection policy favored by most economists because, if done properly, it aligns the interests of the taxpayer with that of the banks  – Treasury supplies needed capital injection to enable banks to lend again in return for preferred stock ownership share, but no control of how the money would be used.
· Others actions to shore up the financial sector:  

· Insurer:  FDIC and Fed commitments of $4 trillion to insure bank debt, money market funds, and Fannie Mae/Freddie Mac.  
· Investments:  The Fed has committed up to $3 trillion to be the buyer of last resort in the commercial paper market,  and the government will use $600billion to buy debt and CDO’s from Fannie Mae, Freddie Mac, and Ginnie Mae. 
· Lender:  $2.3 trillion to term auction facilities to provide low interest loans for financial institutions, loans from the Fed discount window,  and lending programs for investors holding securities backed by consumer and small business loans.
· Finally, more intervention in housing: Treasury is considering underwriting  30-year fixed rate mortgages to drive down the 30 year mortgage rate to 4.5%, available for people buying homes to encourage people to come into the market.  They may extend this to people who could refinance.  Fed chair is now also supporting a proposal by FDIC  chair Sheila Bair to modify loans to reduce monthly payments and prevent foreclosures for 1.5 million families.
· Why regulation is needed:   There are vast parts of the debt markets that are unregulated, involving private transactions that no one else is privy to.  As George Soros has said, this is a case of “ideological excess” and “market fundamentalism.”    In 2003 Alan Greenspan told this to the Senate Banking Committee:   What we have found over the years in the marketplace is that derivatives have been an extraordinarily useful vehicle to transfer risk from those who shouldn’t be taking it to those who are willing to and are capable of doing so.”(NYT Thursday, Oct. 9)  “We think it would be a mistake to more deeply regulate these contracts.”  Recently, he has argued that the contracts failed because people using them were greedy.  A lack of integrity spawned the crisis!  Hello!  Regulation is necessary  to promote transparency (complete information) and insure that banks maintain adequate capital requirements to meet their obligations.  
· Impact on the real economy in the U.S..  We need a massive stimulus package  involving extending unemployment insurance, aid to states, and investment in infrastructure, bailing out the auto industry, extending health insurance, etc.    The financial crisis has caused a decline in aggregate demand (spending), output, employment.   GDP = C + I + (Exports  -Imports) + G
·  C spending has been enabled through, mortgage equity withdrawals, representing about 5-6% of disposable income in 2005-7.  Household debt has risen steadily: 133% in 2007.  “Once asset prices started to come down and credit conditions tightened, this borrowing binge left households—and the broader economy—extremely vulnerable.”  Result”:  Consumption spending has decreased.  
· Unemployment rate for November is 6.7%.  Estimates of unemployment that include those working part-time who want full-time jobs, plus discouraged workers who have dropped out of the labor market, is around 12% . 

· Pensions have lost 20% so people will need to start saving.  

· The mortgage crisis of 12 million families with homes worth at or less than the value of their mortgage means that their real assets have disappeared, housing prices declined 20% in one year.  

· One set of analysts describe the vicious cycle this way:  mortgage reset, delinquencies/foreclosures, house prices fall, Mortgage equity withdrawals decline, consumer spending falls, job market erodes.

· Investment (I) spending in real plant and equipment for expansion and even increased efficiency will not expand, may decrease.   Investment (I) is driven in part by Consumption.  
· Exports, which have been increasing because of the cheap dollar, may decline. The dollar is rising in value as the crisis moves worldwide and foreigners move their money to the U.S.  
· State and local governments are contracting because of declining tax revenues and the requirement to balance their budgets.  They will be short over $100billion this year. 
· This means that aggregate (total) spending (demand) in the whole economy is  declining ; therefore GDP, total output, is declining; we’re in a recession.

· The only component of aggregate demand that is left is Federal Government spending.  We will need increased government spending and/or a reduction in taxes.  The federal government is the “spender of last resort. 
· We need to demand an adequate stimulus package, estimates are from 350-700 billion per year. 
· This is an international problem requiring coordinated policies among nations, particularly rich nations, because of globalized capital markets sharing similar strategies for growth
· Output is falling in Britain, France, Germany, and Japan.  Globally banks have reported 600 billion of capital-related losses.
· Commodity prices are dropping after large increases, impacting the developing world whose banks are even more vulnerable. 
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